


{

z't
'\
3

:  YOU KNOW THOSE OLD CLASSIC ITALIAN
& SPEEDBOATS, THE RIVA AQUARAMA?

THAT'S WHAT THE FENDERS SMELL LIKE.




WOODIE® handcrafted fenders are made to give your bicycle its own individual touch.

The combination of natural materials, such as wood in many design variants, stainless steel
components, also the puristic design make our mudguards unique and give your bicycle
that stylish look you are looking for.

WOODIE® mudguards can fit any type of bicycle. Just figure out your favorite fenders.
Choose type, width, length, colors and stripes and we build them for you - Choose from
over 1000 design possibilities!




TYPES




FULL

. W

HALF

CL A

SPORTIVE

A\ A

UNDER-BRAKE-ATTACHMENT

(solution for small distances between tyres and brakes)

arts

e 20
CO N
2 parts

Please contact us for other solutions!

_5_






WHEEL SIZES




16"
18"
20"
24"
26"
27,5"
28"
29"






WIDTHS




26MM 30MM 35MM 40MM 45MM S50MM S5MM 60MM

Please contact us for other widths!






LENGTHS




LONG / SHORT

You can select pre-defined lengths or specify the fender length by yourself.

examples:

long version: page 39
short version: page 19






FIXING DETAILS




The WOODIE® mounting hardware includes high quality
stainless steel and chrome-plated parts.

Detailed information can be found starting on page 41.



WOODIE" fenders are also available with high-end parts.



The WOODIE® mounting hardware includes high quality
stainless steel and chrome-plated parts.




DESIGNS







BASIC COLORS

WOOD VENEER
(top side)
Vivid Cherry ~ American Wenge Dark Smoky Brown Black Ponga ~ Maple
Oak Walnut Pear
ELOXED ALUMINIUM
(top / bottom / both)
Stainless Steel Copper Bronze Mirror




CHOOSE YOUR STRIPES

handmade wooden inlays (intarsia technique)

pure one stripe two stripes

If you select this option, you can also select the color of the stripes.



VIVID CHERRY
stripes: Maple




AMERICAN OAKR
stripes: Black Ponga




WENGE




DARKR WALNUT
stripes: Maple




SMOKY BROWN PEAR
stripes: Black Ponga




BLACK PONGA
stripe: Maple




MAPLE
stripes: Vivid Cherry




Example:
ELOXED ALUMINIUM
top & bottom
color: Copper



Example:
ELOXED ALUMINIUM
top & bottom
Mirror



black white grey blue denim light blue
cyan turquoise olive green lime citrus
orange coffee magenta purple your color

Instead of aluminium you can also choose Formica at the bottom side.



WOOD VENEER & FORMICA



ELOXED ALUMINIUM & FORMICA



HOW TO ORDER




ORDER GUIDE

L ettt ettt Define the technical aspects:
. 5 *
type wheel size width length
Full Half | Sportive [é:}: 26 28“ | other: 26 30 35 40 45 50 55 60 |long |short
Attachment
* type ,Sportive®: One length (short) only
2. erersrssarasesasassssbatasasn st st tasava sessussrabeta v s asasatas Select the top side:
wood veneer aluminium
Vivid American Wenge Dark Smoky Black Maple or
Cherry Oak Walnut | Brown Pear|  Ponga Steel Copper Gold Bronze
Mirror
stripes stripe colors
0 1 2 Vivid American Wenge Dark Smoky Black Maple Formica color:
Cherry Oak Walnut | Brown Pear Ponga (stained wood)
see below
B ettt st Select the bottom:
Formica or aluminium
(available colors: page 33) Steel Copper Gold Bronze
Mirror
5010002050, AR A AR A special requests:







ANNEX




Fixation: Full fenders

(long version)

optionally:

for frames with

only one eyelet,

also if eyelet has
screwthread

for frames with no
eyelets

needed, if the
fender does not fit
in the frame fork

optionally:

needed, if eyelet
has screwthread

for frames with no
eyelets




included parts:

3x stainless steel stays (nr. 1)
3x M5x10 eyelet bolts (nr. 1)
6x M5x12 eyelet bolts (nr. 2)
1x stainless steel mounting adapter (nr. 3)
1x stainless steel mounting bracket (nr. 4)
1x chrome-plated bracket screw with sleeve (nr. 4)
1x stainless steel extension adapter (nr. 5)*
1x stainless steel M5x10 screw for extension adapter (nr. 5)
3x super slim stainless steel M5 safety nut (nr. 1)
7x stainless steel M5 safety nut (nr. 2, nr. 5)
13x stainless steel M5 washer (nr. 1, nr. 2, nr. 5)
1x spacer for optimum positioning of the rear fender (nr. 5)
1x protective tube

(Please place a small piece of the tube onto the stay ends!)

FIXATION: FULL FENDERS

LONG VERSION

Solutions (nr.) 6 (7) - 8 (9) are included!
Please tell us, if your bike has eyelets or not!

If you wish high-end parts only (e.g. chrome plated or stainless steel
eyelet bolts, leather washer etc. cp. page 18) please contact us!

*Use the extension adapter (nr. 5), if the ‘,
rear fender does not fit the frame fork! o oy




Fixation: Full fenders

(short version)

optionally:

needed, if eyelet
has screwthread

needed, if the
fender does not fit
in the frame fork

optionally:

for frames with no

eyelets

needed, if eyelet
has screwthread

for frames with no
eyelets




included parts:

2x stainless steel stays (nr. 1)
2x M5x10 eyelet bolts (nr. 1)
4x M5x12 eyelet bolts (nr. 2)
1x stainless steel mounting adapter (nr. 3)
1x stainless steel mounting bracket (nr. 4)
1x chrome-plated bracket screw with sleeve (nr. 4)
1x stainless steel extension adapter (nr. 5)*
1x stainless steel M5x10 screw for extension adapter (nr. 5)
2x super slim stainless steel M5 safety nut (nr. 1)
5x stainless steel M5 safety nut (nr. 2, nr. 5)
9x stainless steel M5 washer (nr. 1, nr. 2, nr. 5)
1x spacer for optimum positioning of the rear fender (nr. 5)
1x protective tube

(Please place a small piece of the tube onto the stay ends!)

FIXATION: FULL FENDERS

SHORT VERSION

Solutions (nr.) 6 (7) are included!

also available with high-end parts (cp. page 18)

*Use the extension adapter (nr. 5), if the ‘,
rear fender does not fit the frame fork! e




Fixation: Half fenders
(long version)

optionally: optionally:

for frames with for frames with no needed, if eyelet for frames with no
only one eyelet, eyelets has screwthread eyelets
also if eyelet has

screwthread




included parts:

3x stainless steel stays (nr. 1)
3x M5x10 eyelet bolts (nr. 1)
6x M5x12 eyelet bolts (nr. 2)
2x stainless steel mounting bracket (nr. 3)*
2x chrome-plated bracket screw with sleeve (nr. 3)
3x super slim stainless steel M5 safety nut (nr. 1)
6x stainless steel M5 safety nut (nr. 2)
12x stainless steel M5 washer (nr. 1, nr. 2)
1x protective tube

(Please place a small piece of the tube onto the stay ends!)

FIXATION: HALF FENDERS

LONG VERSION

Solutions (nr.) 4 (5) - 6 (7) are included!
Please tell us, if your bike has eyelets or not!

also available with high-end parts (cp. page 18)
*available bracket (nr. 3) sizes:

long (under-brakes-attachment)

short (no brakes)
high
low low = ca. 22mm low
*\I/ e ﬂ’ high = ca. 30mm *\J
— —
c.a.22mm c.a. 38mm

high

-




Fixation: Half fenders

(short version)

optionally:

needed, if eyelet
has screwthread

for frames with no
eyelets

needed, if eyelet
has screwthread

for frames with no
eyelets




included parts:

2x stainless steel stays (nr. 1)
2x M5x10 eyelet bolts (nr. 1)
4x M5x12 eyelet bolts (nr. 2)
2x stainless steel mounting bracket (nr. 3)
2x chrome-plated bracket screw with sleeve (nr. 3)
2x super slim stainless steel M5 safety nut (nr. 1)
4x stainless steel M5 safety nut (nr. 2)
8x stainless steel M5 washer (nr. 1, nr. 2)
1x protective tube

(Please place a small piece of the tube onto the stay ends!)

FIXATION: HALF FENDERS

SHORT VERSION

short (no brakes)

Solutions (nr.) 4 (5) are included!
Please tell us, if your bike has eyelets or not!

also available with high-end parts (cp. page 18)
*available bracket (nr. 3) sizes:

low

~—__

i

c.a.22mm

long (under-brakes-attachment)

high
low = ca. 22mm low
high = ca. 30mm *\]
—t

c.a. 38mm

high

-




Fixation: Under-Brake-Attachment
(long version)

needed, if the
fender does not fit
optionally: in the frame fork

optionally:

for frames with for frames with no needed, if eyelet
only one eyelet, eyelets has screwthread
also if eyelet has

screwthread

for frames with no
eyelets




included parts:

3x stainless steel stays (nr. 1)
3x M5x10 eyelet bolts (nr. 1)
6x M5x12 eyelet bolts (nr. 2)
4x stainless steel under-brake-attachment bracket (nr. 3)
4x chrome-plated bracket screw with sleeve (nr. 3)
1x stainless steel extension adapter (nr. 4)*
1x stainless steel M5x10 screw for extension adapter (nr. 4)
3x super slim stainless steel M5 safety nut (nr. 1)
7 x stainless steel M5 safety nut (nr. 2)
12x stainless steel M5 washer (nr. 1, nr. 2)
1x protective tube

(Please place a small piece of the tube onto the stay ends!)

FIXATION: UNDER-BRAKE-ATTACHMENT

LONG VERSION

Solutions (nr.) 5 (6) - 7 (8) are included!
Please tell us, if your bike has eyelets or not!

also available with high-end parts (cp. page 18)

*Use the extension adapter (nr. 4), if the
rear fender does not fit the frame fork!

!rame ->




Fixation: Under-Brake-Attachment

(short version)

I

optionally:

needed, if eyelet
has screwthread

for frames with no
eyelets

needed, if the
fender does not fit
in the frame fork

optionally:

needed, if eyelet
has screwthread

for frames with no
eyelets




included parts:

2x stainless steel stays (nr. 1)
2x M5x10 eyelet bolts (nr. 1)
4x M5x12 eyelet bolts (nr. 2)
4x stainless steel under-brake-attachment bracket (nr. 3)
4x chrome-plated bracket screw with sleeve (nr. 3)
1x stainless steel extension adapter (nr. 4)*
1x stainless steel M5x10 screw for extension adapter (nr. 4)
2x super slim stainless steel M5 safety nut (nr. 1)
5x stainless steel M5 safety nut (nr. 2)
9x stainless steel M5 washer (nr. 1, nr. 2)
1x protective tube

(Please place a small piece of the tube onto the stay ends!)

FIXATION: UNDER-BRAKE-ATTACHMENT

SHORT VERSION

Solutions (nr.) 5 (6) are included!
Please tell us, if your bike has eyelets or not!

also available with high-end parts (cp. page 18)

*Use the extension adapter (nr. 4), if the
rear fender does not fit the frame fork!

!rame ->




Fixation: Sportive

optionally:

needed, if eyelet
has screwthread

for frames with no
eyelets

optionally:

needed, if eyelet
has screwthread

for frames with no
eyelets




included parts:

2x stainless steel stays (nr. 1)
2x M5x10 eyelet bolts (nr. 1)
4x M5x12 eyelet bolts (nr. 2)
1x stainless steel mounting adapter (nr. 3)
1x stainless steel mounting bracket (nr. 4)
1x chrome-plated bracket screw with sleeve (nr. 4)
2x super slim stainless steel M5 safety nut (nr. 1)
2x stainless steel M5 safety nut (nr. 2 )
8x stainless steel M% washer (nr. 1, nr. 2 )
1x protective tube

(Please place a small piece of the tube onto the stay ends!)

FIXATION: SPORTIVE

ONE LENGTH

Solutions (nr.) 5 (6) are included!

also available with high-end parts (cp. page 18)




WOODIE?® parts list

11/

B-100H stainless steel mounting bracket high

B-100L stainless steel mounting bracket low

stainless steel mounting bracket 22mm / low

stainless steel mounting bracket 22mm / low

stainless steel mounting bracket 38mm / high

stainless steel mounting bracket 38mm / low

stainless steel mounting adapter
AF-26/30/35/40/45/50/55/60 (available sizes: 26-60 mm)

A-XTO1 stainless steel extension adapter




SC-B

WOODIE® parts list

chrome-plated bracket screw with sleeve

AF-101-z/s

stainless steel eyelet adapter
incl. zink-plated (z) eyelet bolts / stainless steel (s) eyelet bolts

AF-102-z/s

stainless steel eyelet adapter
incl. zink-plated (z) eyelet bolts / stainless steel (s) eyelet bolts

AF-201-z/s

eyelet adapter
(z): adapter: stainless steel, eyelet bolts: zink-plated
(s): adapter chrome-plated, eyelet bolts: stainless steel

AF-202-z/s

stainless steel eyelet adapter
incl. zink-plated (z) eyelet bolts / stainless steel (s) eyelet bolts

A-CL

chrome-plated stays clamp

SP-10

spacer 10mm

A-XT02

stainless steel extension adapter (for screw SC-B)




13/

WOODIE?® parts list

ST-26/30/35/40/45/50/55/60

stainless steel stays
(available sizes: 26-60 mm)

EZ-081012

zinc-plated M5 eyelet bolts

(available sizes: 8, 10, 12 mm)

SC-1012

stainless steel M5 screw
(available sizes: 10, 12 mm)

WL-01

leather washer 1mm

NS-H/L

stainless steel M5 safety nut
(h): super slim
(1): normal size

WS-01

stainless steel M5 washer 1mm

EC-10
chrome-plated M5x10 eyelet bolt






Notes




The wood used by WOODIE? contains only veneer from reconstituted woods which are sourced from
responsible and sustainable forestry management. Please note therefore, that product names used by us are design
names and not a description of the wood species. Minor deviations in color and wood patterns are possible.



WOODIE

Phone: +49 (0) 621 30989057
Fax: +49 (0) 621 86429715
E-mail; info@woodie-fenders.com

www.woodie-fenders.com
facebook.com/woodiefenders

WOODIE - Luzian Koczewski - Industriestr, 2g-h - 68169 Mannheim, Germany



